


Chapter 2--How Do I Know Whether God Exists?
Student: ___________________________________________________________________________

1. Augustine was born in

A. India
B. England
C. North Africa
D. Italy

2. Augustine was born in

A. 1st century AD
B. 4th century AD
C. 7th century AD
D. 10th century AD

3. Augustine was converted to

A. Christianity
B. Islam
C. Judaism
D. Hinduism

4. Saint Anselm was a theologian who wrote his major works in

A. 2nd century BC
B. 5th century AD
C. 11th century AD
D. 17th century AD

5. Saint Anselm held which important position in the Christian Church?

A. Archbishop of Canterbury
B. Pope
C. Grand Inquisitor
D. none of the above.

6. According to Anselm, quoting Psalms, the fool has said in his heart

A. there is no heaven.
B. there is no God.
C. there is no love.
D. the meek shall inherit the earth.

7. Aquinas was born in the

A. 4th century AD
B. 7th century AD
C. 10th century AD
D. 13th century AD
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8. Aquinas's theology was especially influenced by the philosophy of

A. Thales
B. Democritus
C. Aristotle
D. Epicurus

9. How many ways does Aquinas have to prove the existence of God?

A. One
B. Two
C. Three
D. Five

10. The arguments that Aquinas gives for the existence of God are

A. a priori
B. a posteriori
C. both (a) and (b)
D. neither (a) nor (b)

11. William Paley is arguing that

A. we should believe in God because the belief will make us happier.
B. we should believe in God because we will go to Hell otherwise.
C. we should believe in God because there is good evidence for His existence.
D. belief in God is an entirely personal matter for individual choice.

12. William Paley uses an analogy of a watch because he thinks that

A. humans are deterministic machines just like watches
B. God made all the watches in the world and God made the rest of nature
C. watches are a result of a natural process to be understood by the science of biology.
D. watches are complex mechanisms with many parts serving different purposes like other things found

in nature.

13. William Paley believes it is obvious that a watchmaker must have made the watch he found on the heath
because

A. it would be impossible for such a complex and well-made thing to occur naturally.
B. the watchmaker told him so.
C. he saw with his own eyes the watchmaker design and manufacture the watch.
D. he found the watchmaker's personal mark on the back of the watch.

14. William Paley considers eight objections to his argument that a watchmaker must have made the watch
because

A. these are parallel versions of objections to the teleological argument for the existence of God.
B. these are objections that people commonly make to the idea that watchmakers make watches.
C. he wants to show that the teleological argument for the existence of God is in fact a weak argument.
D. he is trying to test the faith of true believers.

15. To the objection that says that the watch sometimes went wrong or that it seldom went exactly right,
Paley replies that

A. the watchmaker probably designed the watch to be imperfect.
B. it is not necessary that a machine be perfect in order to show that it was created by a designer.
C. we cannot question the motives of the watchmaker who knows more about his craft than we do.
D. questioning the perfection of the watchmaker is heretical and should be condemned.
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16. Most philosophers now think that the teleological argument is unsuccessful. This is because

A. Most contemporary philosophers do not believe in God.
B. Most philosophers do not think that any rational reason is needed for someone to believe in God.
C. Most philosophers accept that science can explain the wonderful works of nature without appeal to a

supernatural creator.
D. Most philosophers think it is a waste of time thinking about theology.

17. David Hume was

A. English
B. Irish
C. Welsh
D. Scottish

18. David Hume lived in the

A. 16th century
B. 17th century
C. 18th century
D. 19th century

19. Hume's main aim in this piece is to argue that

A. what we know about the world is inconsistent with the idea of a very powerful, wise and benevolent
Deity.

B. what we know about the world does not allow us to infer the existence of a very powerful, wise and
benevolent Deity.

C. what we know about the world does allow us to infer the existence of a very powerful, wise and
benevolent Deity.

D. what we know about the world is consistent with the idea of a very powerful, wise and benevolent
Deity.

20. Given the available evidence about the first causes of the universe, Hume says that the most probable
conclusion is that

A. they are endowed with perfect goodness.
B. they are endowed with perfect malice.
C. they are opposite and have both goodness and malice.
D. they have neither goodness nor malice.

21. Kant was

A. French
B. Albanian
C. Hungarian
D. German

22. Kant argues that it is ____ necessary to assume the existence of God.

A. logically
B. morally
C. physically
D. mathematically
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23. According to Kant, happiness is

A. the condition of a rational being in the world
B. only possible in the afterlife
C. ultimately beside the point
D. impossible to achieve

24. A way to summarize Kant's approach would be

A. God must exist in order for freedom to be possible
B. God must exist so that evildoers do not profit by their deeds
C. God must exist to explain the problem of evil
D. God must exist to reward the good

25. Kierkegaard was

A. French
B. Irish
C. Danish
D. Russian

26. Kierkegaard lived in which century?

A. 16th

B. 17th

C. 18th

D. 19th

27. Kierkegaard was most closely associated with which religion?

A. Christianity
B. Judaism
C. Pantheism
D. Buddhism

28. William James is arguing that

A. all people should believe in God
B. it can be rational to believe in God
C. there is compelling evidence for the existence of God
D. we should believe in God because there can be no proof of His existence.

29. According to James' definition, a dead hypothesis is

A. a proposition that has no credibility to a person.
B. a proposition that nobody could ever believe.
C. a proposition that everyone could believe.
D. a speculation about the existence of life after death.

30. A forced option occurs when

A. a person is forced by the government to choose between two sides.
B. a person is forced by peer pressure to choose between two beliefs.
C. a person is forced by the nature of the option and circumstances to select from between two or more

choices.
D. a person is forced by the logic of pure rationality to accept the truth of the existence of God.

4



31. James says that when scientists consider an unproven scientific theory, their decision whether to believe
the theory is normally

A. forced and trivial
B. forced and momentous
C. avoidable and trivial
D. avoidable and momentous

32. James says that for himself, the choice whether to believe in religion is

A. dead, avoidable, and trivial.
B. living, avoidable, and momentous.
C. living, forced, and trivial.
D. living, forced, and momentous.

33. James defines religion as saying essentially two things, first, that "the best things are the more eternal
things," and second, that

A. we are better off now if we believe in religion.
B. we will go to Heaven when we die.
C. God is the creator of the Universe.
D. we should love our neighbors as ourselves.

34. James says that if we choose not to accept religion, then

A. there is no risk at all.
B. we lose the good of religion if it is true.
C. we will certainly lead less rewarding lives.
D. we are going against the laws of logic and evidence.

35. "Brahman" means

A. logical fallacy
B. ultimate reality
C. realm of illusion
D. the Destroyer

36. The hymn was written about

A. 300 AD
B. 500 BCE
C. 1500 BCE
D. 1865 AD

37. What is the basic question that informs Bishop's article?

A. Does God exist?
B. Does theism allow for a less than omnipotent God?
C. Is atheism really possible?
D. Can the problem of evil be resolved?

38. Which of the following would exemplify an "irrational fideism?"

A. believing in God on the basis of faith alone and contrary to reason
B. believing in God in the absence of evidence
C. only believing in God but not the devil
D. only believing in a less than omniGod
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39. Bishop advocates a ____ approach.

A. mechanist
B. moral
C. empirical
D. functionalist

40. Bishop is attempting to arrive at

A. a concept of religious adequacy
B. a proof for the existence of God
C. a proof for the truth of atheism
D. none of these choices

41. According to Bishop what might make a theist reject belief in an omniGod?

A. the lack of evidence
B. the Argument from Evil
C. the Argument from Irrationality
D. the Argument from Immortality

42. Augustine believes that it is impossible to provide proof that God exists and that we must rely purely on
faith.

True False

43. According to Anselm, it is the same thing for an object to be in the understanding and to understand that
the object exists.

True False

44. According to Anselm, even the fool is convinced that something exists in the understanding at least than
which nothing greater can be conceived.

True False

45. According to Anselm, an object is more perfect if it exists in the understanding alone than it is if it exists
in reality.

True False

46. According to Anselm, it is absurd to suppose we could imagine a being more perfect than God.

True False

47. Aquinas considers arguments against the existence of God in order to show the irrationality of religious
faith.

True False

48. Aquinas argues that an object can start moving by itself with no cause.

True False

49. Aquinas argues that God would not allow any evil to exist in His works, unless good could come out of
the evil.

True False
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50. William Paley did his main theological work in the twentieth century.

True False

51. William Paley argues that it is pointless to try to prove the existence of God.

True False

52. William Paley argues that in order to know that an object was created, we have to see objects of that
kind being created.

True False

53. Hume thinks that there is clear evidence that God designed the world in a way to benefit humans as
much as possible.

True False

54. Hume asks why, if the universe is designed by God, do animals learn from pain when it would be
possible to stop all pain and have animals learn only from pleasure.

True False

55. Hume asks why, if the universe is designed by God, do the operations of objects have to be governed by
universal laws of nature, when God could interfere very easily to break those laws and greatly reduce
human suffering.

True False

56. Hume asks why, if the universe is designed by God, are animals so frail and susceptible to pain and
death?

True False

57. Hume says that to cure most of the ills of human life, man should have the wings of the eagle, the
swiftness of the stag, the force of the ox, the arms of the lion, and scales of the crocodile or rhinoceros.

True False

58. Kant argues that morality is based upon fulfilling our desires to the best of our ability.

True False

59. According to Kant, the existence of God is necessary to ground the exact coincidence of happiness with
morality.

True False

60. For Kant, the amount of happiness one enjoys must be proportionate to how moral one is.

True False

61. Kant does not believe that God is necessary to insure moral order.

True False

62. Kierkegaard accepted the Teleological Proof of the existence of God.

True False
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63. Kierkegaard said that if God did not exist, it would be impossible to prove it.

True False

64. Kierkegaard's main thesis is that there are no limits to Reason.

True False

65. James says that we have strong evidence for the existence of a God.

True False

66. James believes that the fundamental emotion behind religious skepticism is hope.

True False

67. James does not think that rationality requires us to seek strong evidence for all our beliefs.

True False

68. James is arguing that all rational people should adopt religious beliefs.

True False

69. James argues that most of scientific research prefers to avoid falsehood rather than risk error.

True False

70. According to the Hymn access to the knowledge of creation is available to everyone.

True False

71. According to the hymn, the universe is the result of the desire of the One.

True False

72. Bishop is attempting to argue for an alternative to the omniGod concept.

True False

73. Bishop is opposed to all forms of theism.

True False

74. Bishop is an ardent fideist.

True False

75. For Bishop, religious belief is fundamentally irrational and pointless.

True False

76. Bishop believes that more than one God-concept may functionally fulfill the "God-role."

True False
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77. What hierarchy does Augustine present regarding existence, life, and understanding?

78. Where do animals fall in this scale? Humans? Plants?

79. What, according to Augustine, is the nature of God?

80. What, according to Anselm, is God? How does this compare with Augustine's conception of the divine?
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81. Why does Anselm find the non-believer to be irrational?

82. Can God be conceived not to exist? Why/why not?

83. Does Anselm present a deductive or an inductive argument for the existence of God?

84. Why does Aquinas say that it is impossible for a thing to be the efficient cause of itself?
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85. Aquinas says that, if in efficient causes it is possible to go on to infinity, there will be no first efficient
cause, neither will there be an ultimate effect, nor any intermediate efficient causes; all of which is
plainly false. What conclusion does he draw from this?

86. Aquinas says that "we see that things which lack intelligence, such as natural bodies, act for some
purpose, which fact is evident from their acting always, or nearly always, in the same way, so as to
obtain the best result." Give an example of a natural body acting for some purpose.

87. Explain how Paley replies to the objection that there are parts of the watch whose purpose we could not
understand or which even seem to have no function in making the watch work.

88. Set out a direct teleological argument for the existence of God (making no mention of watches).
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89. Give the best objection you can to the argument you gave in the previous question

90. Explain why Paley thinks that a watch is significantly different from a stone, and that there is good
reason to think that the watch was designed and made while the stone is just a natural object.

91. Hume writes, "All that belongs to human understanding, in this deep ignorance and obscurity, is to be
skeptical, or at least cautious; and not to admit of any hypothesis, whatever; much less, of any which is
supported by no appearance of probability." Explain what this means.

92. List the four circumstances from which arise the misery and ill of the universe, according to Hume.
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93. Explain Hume's general attitude towards beliefs in supernatural beings.

94. What is the "practical problem" Kant refers to at the beginning of his essay?

95. Do you think that Kant's argument for the moral necessity of God's existence is any good? Why or why
not?

96. What is it about Kant's ethics that makes his argument for the existence of God so complicated?
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97. Kierkegaard writes, "Whoever therefore attempts to demonstrate the existence of God (except in the
sense of clarifying the concept), proves in lieu thereof something else, something which at times perhaps
does not need proof, and in any case need none better; for the fool says in his heart that there is no God,
but whoever says in his heart or to men: Wait just a little and I will prove it--what a rare man of wisdom
is he!" Explain this quotation.

98. Why does James think that the truth of religion is a question that the intellect cannot by itself resolve?

99. What attitude does scepticism take towards belief in religion?

100.Explain what James means when he writes, "a rule of thinking which would absolutely prevent me from
acknowledging certain kinds of truth if those kinds of truth were really there, would be an irrational
rule."
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101.What is the difference between a living and dead hypothesis? Why is deadness or liveness a relation to
individual thinker rather than an intrinsic property of the hypothesis?

102.What is the difference between a forced and an avoidable choice?

103.What does James consider to be the two essential parts of any religion?

104.How does James think that religion transforms our experience of the universe?
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105.What costs does James suggest come with taking a skeptical attitude toward religion?

106.Natalie Angier suggests a new term for her perspective on spirituality: "transcendent atheism." Discuss
what is meant by this term.

107.Why would Joseph Lieberman claim that morality must be maintained by religion? What does this
mean? Can an atheist be moral?

108.What about President Bush's acceptance speech caused Angier to bristle?
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109.What does it mean to be an atheist? Discuss.

110.Discuss the claim that freedom of religion also involves freedom from religion. What is freedom from
religion?

111.Does Angier, despite her atheism, still "thirst after meaning and desire and expansion of purpose"?
Explain.

112.What do you think the main point of the hymn is? How is it similar to the Judeo-Christian account of
creation? How is it different?
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113.Who is the "One" to which the hymn refers? What role does the "One" play in creation?

114.What does Bishop mean by the "psychological economy of theism?" What role does this concept play in
his argument?

115.Do you agree with Bishop that the concept of God need not be cashed out in an "omni-" sense? Why or
why not?

116.What does Bishop mean by the God-concept playing a functionalist role? How does this play into his
idea of religious adequacy?
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Chapter 2--How Do I Know Whether God Exists? Key

1. Augustine was born in

A. India
B. England
C. North Africa
D. Italy

2. Augustine was born in

A. 1st century AD
B. 4th century AD
C. 7th century AD
D. 10th century AD

3. Augustine was converted to

A. Christianity
B. Islam
C. Judaism
D. Hinduism

4. Saint Anselm was a theologian who wrote his major works in

A. 2nd century BC
B. 5th century AD
C. 11th century AD
D. 17th century AD

5. Saint Anselm held which important position in the Christian Church?

A. Archbishop of Canterbury
B. Pope
C. Grand Inquisitor
D. none of the above.

6. According to Anselm, quoting Psalms, the fool has said in his heart

A. there is no heaven.
B. there is no God.
C. there is no love.
D. the meek shall inherit the earth.

7. Aquinas was born in the

A. 4th century AD
B. 7th century AD
C. 10th century AD
D. 13th century AD
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8. Aquinas's theology was especially influenced by the philosophy of

A. Thales
B. Democritus
C. Aristotle
D. Epicurus

9. How many ways does Aquinas have to prove the existence of God?

A. One
B. Two
C. Three
D. Five

10. The arguments that Aquinas gives for the existence of God are

A. a priori
B. a posteriori
C. both (a) and (b)
D. neither (a) nor (b)

11. William Paley is arguing that

A. we should believe in God because the belief will make us happier.
B. we should believe in God because we will go to Hell otherwise.
C. we should believe in God because there is good evidence for His existence.
D. belief in God is an entirely personal matter for individual choice.

12. William Paley uses an analogy of a watch because he thinks that

A. humans are deterministic machines just like watches
B. God made all the watches in the world and God made the rest of nature
C. watches are a result of a natural process to be understood by the science of biology.
D. watches are complex mechanisms with many parts serving different purposes like other things

found in nature.

13. William Paley believes it is obvious that a watchmaker must have made the watch he found on the
heath because

A. it would be impossible for such a complex and well-made thing to occur naturally.
B. the watchmaker told him so.
C. he saw with his own eyes the watchmaker design and manufacture the watch.
D. he found the watchmaker's personal mark on the back of the watch.

14. William Paley considers eight objections to his argument that a watchmaker must have made the
watch because

A. these are parallel versions of objections to the teleological argument for the existence of God.
B. these are objections that people commonly make to the idea that watchmakers make watches.
C. he wants to show that the teleological argument for the existence of God is in fact a weak

argument.
D. he is trying to test the faith of true believers.
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15. To the objection that says that the watch sometimes went wrong or that it seldom went exactly right,
Paley replies that

A. the watchmaker probably designed the watch to be imperfect.
B. it is not necessary that a machine be perfect in order to show that it was created by a designer.
C. we cannot question the motives of the watchmaker who knows more about his craft than we do.
D. questioning the perfection of the watchmaker is heretical and should be condemned.

16. Most philosophers now think that the teleological argument is unsuccessful. This is because

A. Most contemporary philosophers do not believe in God.
B. Most philosophers do not think that any rational reason is needed for someone to believe in God.
C. Most philosophers accept that science can explain the wonderful works of nature without appeal

to a supernatural creator.
D. Most philosophers think it is a waste of time thinking about theology.

17. David Hume was

A. English
B. Irish
C. Welsh
D. Scottish

18. David Hume lived in the

A. 16th century
B. 17th century
C. 18th century
D. 19th century

19. Hume's main aim in this piece is to argue that

A. what we know about the world is inconsistent with the idea of a very powerful, wise and
benevolent Deity.

B. what we know about the world does not allow us to infer the existence of a very powerful, wise
and benevolent Deity.

C. what we know about the world does allow us to infer the existence of a very powerful, wise and
benevolent Deity.

D. what we know about the world is consistent with the idea of a very powerful, wise and benevolent
Deity.

20. Given the available evidence about the first causes of the universe, Hume says that the most probable
conclusion is that

A. they are endowed with perfect goodness.
B. they are endowed with perfect malice.
C. they are opposite and have both goodness and malice.
D. they have neither goodness nor malice.

21. Kant was

A. French
B. Albanian
C. Hungarian
D. German
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22. Kant argues that it is ____ necessary to assume the existence of God.

A. logically
B. morally
C. physically
D. mathematically

23. According to Kant, happiness is

A. the condition of a rational being in the world
B. only possible in the afterlife
C. ultimately beside the point
D. impossible to achieve

24. A way to summarize Kant's approach would be

A. God must exist in order for freedom to be possible
B. God must exist so that evildoers do not profit by their deeds
C. God must exist to explain the problem of evil
D. God must exist to reward the good

25. Kierkegaard was

A. French
B. Irish
C. Danish
D. Russian

26. Kierkegaard lived in which century?

A. 16th

B. 17th

C. 18th

D. 19th

27. Kierkegaard was most closely associated with which religion?

A. Christianity
B. Judaism
C. Pantheism
D. Buddhism

28. William James is arguing that

A. all people should believe in God
B. it can be rational to believe in God
C. there is compelling evidence for the existence of God
D. we should believe in God because there can be no proof of His existence.

29. According to James' definition, a dead hypothesis is

A. a proposition that has no credibility to a person.
B. a proposition that nobody could ever believe.
C. a proposition that everyone could believe.
D. a speculation about the existence of life after death.

4



30. A forced option occurs when

A. a person is forced by the government to choose between two sides.
B. a person is forced by peer pressure to choose between two beliefs.
C. a person is forced by the nature of the option and circumstances to select from between two or

more choices.
D. a person is forced by the logic of pure rationality to accept the truth of the existence of God.

31. James says that when scientists consider an unproven scientific theory, their decision whether to
believe the theory is normally

A. forced and trivial
B. forced and momentous
C. avoidable and trivial
D. avoidable and momentous

32. James says that for himself, the choice whether to believe in religion is

A. dead, avoidable, and trivial.
B. living, avoidable, and momentous.
C. living, forced, and trivial.
D. living, forced, and momentous.

33. James defines religion as saying essentially two things, first, that "the best things are the more eternal
things," and second, that

A. we are better off now if we believe in religion.
B. we will go to Heaven when we die.
C. God is the creator of the Universe.
D. we should love our neighbors as ourselves.

34. James says that if we choose not to accept religion, then

A. there is no risk at all.
B. we lose the good of religion if it is true.
C. we will certainly lead less rewarding lives.
D. we are going against the laws of logic and evidence.

35. "Brahman" means

A. logical fallacy
B. ultimate reality
C. realm of illusion
D. the Destroyer

36. The hymn was written about

A. 300 AD
B. 500 BCE
C. 1500 BCE
D. 1865 AD

37. What is the basic question that informs Bishop's article?

A. Does God exist?
B. Does theism allow for a less than omnipotent God?
C. Is atheism really possible?
D. Can the problem of evil be resolved?
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38. Which of the following would exemplify an "irrational fideism?"

A. believing in God on the basis of faith alone and contrary to reason
B. believing in God in the absence of evidence
C. only believing in God but not the devil
D. only believing in a less than omniGod

39. Bishop advocates a ____ approach.

A. mechanist
B. moral
C. empirical
D. functionalist

40. Bishop is attempting to arrive at

A. a concept of religious adequacy
B. a proof for the existence of God
C. a proof for the truth of atheism
D. none of these choices

41. According to Bishop what might make a theist reject belief in an omniGod?

A. the lack of evidence
B. the Argument from Evil
C. the Argument from Irrationality
D. the Argument from Immortality

42. Augustine believes that it is impossible to provide proof that God exists and that we must rely purely
on faith.

FALSE

43. According to Anselm, it is the same thing for an object to be in the understanding and to understand
that the object exists.

FALSE

44. According to Anselm, even the fool is convinced that something exists in the understanding at least
than which nothing greater can be conceived.

TRUE

45. According to Anselm, an object is more perfect if it exists in the understanding alone than it is if it
exists in reality.

FALSE

46. According to Anselm, it is absurd to suppose we could imagine a being more perfect than God.

TRUE

47. Aquinas considers arguments against the existence of God in order to show the irrationality of
religious faith.

FALSE
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48. Aquinas argues that an object can start moving by itself with no cause.

FALSE

49. Aquinas argues that God would not allow any evil to exist in His works, unless good could come out
of the evil.

TRUE

50. William Paley did his main theological work in the twentieth century.

FALSE

51. William Paley argues that it is pointless to try to prove the existence of God.

FALSE

52. William Paley argues that in order to know that an object was created, we have to see objects of that
kind being created.

FALSE

53. Hume thinks that there is clear evidence that God designed the world in a way to benefit humans as
much as possible.

FALSE

54. Hume asks why, if the universe is designed by God, do animals learn from pain when it would be
possible to stop all pain and have animals learn only from pleasure.

TRUE

55. Hume asks why, if the universe is designed by God, do the operations of objects have to be governed
by universal laws of nature, when God could interfere very easily to break those laws and greatly
reduce human suffering.

TRUE

56. Hume asks why, if the universe is designed by God, are animals so frail and susceptible to pain and
death?

TRUE

57. Hume says that to cure most of the ills of human life, man should have the wings of the eagle, the
swiftness of the stag, the force of the ox, the arms of the lion, and scales of the crocodile or
rhinoceros.

FALSE

58. Kant argues that morality is based upon fulfilling our desires to the best of our ability.

FALSE

59. According to Kant, the existence of God is necessary to ground the exact coincidence of happiness
with morality.

TRUE

7



60. For Kant, the amount of happiness one enjoys must be proportionate to how moral one is.

TRUE

61. Kant does not believe that God is necessary to insure moral order.

FALSE

62. Kierkegaard accepted the Teleological Proof of the existence of God.

FALSE

63. Kierkegaard said that if God did not exist, it would be impossible to prove it.

TRUE

64. Kierkegaard's main thesis is that there are no limits to Reason.

FALSE

65. James says that we have strong evidence for the existence of a God.

FALSE

66. James believes that the fundamental emotion behind religious skepticism is hope.

FALSE

67. James does not think that rationality requires us to seek strong evidence for all our beliefs.

TRUE

68. James is arguing that all rational people should adopt religious beliefs.

FALSE

69. James argues that most of scientific research prefers to avoid falsehood rather than risk error.

TRUE

70. According to the Hymn access to the knowledge of creation is available to everyone.

FALSE

71. According to the hymn, the universe is the result of the desire of the One.

TRUE

72. Bishop is attempting to argue for an alternative to the omniGod concept.

TRUE

73. Bishop is opposed to all forms of theism.

FALSE

74. Bishop is an ardent fideist.

FALSE
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75. For Bishop, religious belief is fundamentally irrational and pointless.

FALSE

76. Bishop believes that more than one God-concept may functionally fulfill the "God-role."

TRUE

77. What hierarchy does Augustine present regarding existence, life, and understanding?

Answer not provided.

78. Where do animals fall in this scale? Humans? Plants?

Answer not provided.

79. What, according to Augustine, is the nature of God?

Answer not provided.

80. What, according to Anselm, is God? How does this compare with Augustine's conception of the
divine?

Answer not provided.

81. Why does Anselm find the non-believer to be irrational?

Answer not provided.

82. Can God be conceived not to exist? Why/why not?

Answer not provided.

83. Does Anselm present a deductive or an inductive argument for the existence of God?

Answer not provided.

9



84. Why does Aquinas say that it is impossible for a thing to be the efficient cause of itself?

Answer not provided.

85. Aquinas says that, if in efficient causes it is possible to go on to infinity, there will be no first
efficient cause, neither will there be an ultimate effect, nor any intermediate efficient causes; all of
which is plainly false. What conclusion does he draw from this?

Answer not provided.

86. Aquinas says that "we see that things which lack intelligence, such as natural bodies, act for some
purpose, which fact is evident from their acting always, or nearly always, in the same way, so as to
obtain the best result." Give an example of a natural body acting for some purpose.

Answer not provided.

87. Explain how Paley replies to the objection that there are parts of the watch whose purpose we could
not understand or which even seem to have no function in making the watch work.

Answer not provided.

88. Set out a direct teleological argument for the existence of God (making no mention of watches).

Answer not provided.

89. Give the best objection you can to the argument you gave in the previous question

Answer not provided.

90. Explain why Paley thinks that a watch is significantly different from a stone, and that there is good
reason to think that the watch was designed and made while the stone is just a natural object.

Answer not provided.
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91. Hume writes, "All that belongs to human understanding, in this deep ignorance and obscurity, is to be
skeptical, or at least cautious; and not to admit of any hypothesis, whatever; much less, of any which
is supported by no appearance of probability." Explain what this means.

Answer not provided.

92. List the four circumstances from which arise the misery and ill of the universe, according to Hume.

Answer not provided.

93. Explain Hume's general attitude towards beliefs in supernatural beings.

Answer not provided.

94. What is the "practical problem" Kant refers to at the beginning of his essay?

Answer not provided.

95. Do you think that Kant's argument for the moral necessity of God's existence is any good? Why or
why not?

Answer not provided.

96. What is it about Kant's ethics that makes his argument for the existence of God so complicated?

Answer not provided.

97. Kierkegaard writes, "Whoever therefore attempts to demonstrate the existence of God (except in the
sense of clarifying the concept), proves in lieu thereof something else, something which at times
perhaps does not need proof, and in any case need none better; for the fool says in his heart that there
is no God, but whoever says in his heart or to men: Wait just a little and I will prove it--what a rare
man of wisdom is he!" Explain this quotation.

Answer not provided.
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98. Why does James think that the truth of religion is a question that the intellect cannot by itself
resolve?

Answer not provided.

99. What attitude does scepticism take towards belief in religion?

Answer not provided.

100. Explain what James means when he writes, "a rule of thinking which would absolutely prevent me
from acknowledging certain kinds of truth if those kinds of truth were really there, would be an
irrational rule."

Answer not provided.

101. What is the difference between a living and dead hypothesis? Why is deadness or liveness a relation
to individual thinker rather than an intrinsic property of the hypothesis?

Answer not provided.

102. What is the difference between a forced and an avoidable choice?

Answer not provided.

103. What does James consider to be the two essential parts of any religion?

Answer not provided.

104. How does James think that religion transforms our experience of the universe?

Answer not provided.

105. What costs does James suggest come with taking a skeptical attitude toward religion?

Answer not provided.
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106. Natalie Angier suggests a new term for her perspective on spirituality: "transcendent atheism."
Discuss what is meant by this term.

Answer not provided.

107. Why would Joseph Lieberman claim that morality must be maintained by religion? What does this
mean? Can an atheist be moral?

Answer not provided.

108. What about President Bush's acceptance speech caused Angier to bristle?

Answer not provided.

109. What does it mean to be an atheist? Discuss.

Answer not provided.

110. Discuss the claim that freedom of religion also involves freedom from religion. What is freedom from
religion?

Answer not provided.

111. Does Angier, despite her atheism, still "thirst after meaning and desire and expansion of purpose"?
Explain.

Answer not provided.

112. What do you think the main point of the hymn is? How is it similar to the Judeo-Christian account of
creation? How is it different?

Answer not provided.
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113. Who is the "One" to which the hymn refers? What role does the "One" play in creation?

Answer not provided.

114. What does Bishop mean by the "psychological economy of theism?" What role does this concept play
in his argument?

Answer not provided.

115. Do you agree with Bishop that the concept of God need not be cashed out in an "omni-" sense? Why
or why not?

Answer not provided.

116. What does Bishop mean by the God-concept playing a functionalist role? How does this play into his
idea of religious adequacy?

Answer not provided.
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